A seIIE

A APXNSIWEN D (=N

©@el: AEIs 24

SM/5Y -5

I

HA - B GA(S) - RN - BES olae 80 | Ha=s

sgJ|ett 118,933,608 109,899,552 9,034,056
= 87,213,350
X 17,206,000
] 463,300
& 14,050,958

AENSIYHN L (sEHL+/ =5 - s& 95,339, 174 88,252,902 7,086,272
= 82,913,350
Al 582,000
o] 463,300
& 11,380,524

dEtdsy s4 24,507,930 24,167,280 340,650
= 20,732,490
X 582,000
& 3,193,440

]Iz NY(=D) 16,577,120 16,577,120 0
= 14,801,000
& 1,776,120

308 RtXI XSOl H 16,577,120 16,577,120 0
= 14,801,000
= 1,776,120

01 AXSHHISEXS 16,577,120 16,577,120 0
RIEH=ZES 16,577,120
= 14,801,000
& 1,776,120

SLNEH N (22) 4,561,110 4,561,110 0
= 4,041,490
= 519,620

308 XX EHH SO0I™ 4,561,110 4,561,110 0
= 4,041,490
= 519,620

O AXSHBLEZS 4,561,110 4,561,110 0
OELMEMXIHA 4,561,110
= 4,041,490
& 519,620

HEBsY XNFAH(RD) 873,000 420,000 453,000
X 582,000
=S 291,000

403 RMXIEtH S X0l & 873,000 420,000 453,000
X 582,000
LS 291,000

01 XXM 2EE 873,000 420,000 453,000
odEB=Y NFZYH 873,000
X 582,000
& 291,000

HEZ3sgE(R1) 1,640,000 1,727,600 A\87,600
= 1,640,000
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=oiD|8t D}
M APRSABAR D(SUHLLM /5 - S&)
7 dadsy 54

'=‘/d 38 - gs| (swﬂ) kll'='A}ﬁ asa . Olae R | Hmeo
308 XPXIE*HI%OI& 1,640,000 1,727,600 A87,600
= 1,640,000
01 AXESHNBLAEEZ 1,640,000 1,727,600 A87,600
OrEE = AFXEAM 1,640,000
= 1,640,000
TEZ SUE REELE 185,500 216,100 230,600
202 OiHl 10,000 10,000 0
01 SO 10,000 10,000 0
Oz EE=Y SLYR =& 10,000
308 AHXIEHSO0IH 54,000 54,000 0
01 AXESHHBAEES 54,000 54,000 0
ORI EHANESME ZHUXR 54,000
403 XIS X201 & 121,500 152,100 230,600
01 AXSHAEEE 121,500 152,100 230,600
OB SLE SSSHRALE - ZHIXE 31,500
O EZ=sLE SSHH XN 90,000
EF= MBS 120,300 142,200 A21,900
403 X XIS E X201 & 120,300 142,200 221,900
01 XIS AEER 120,300 142,200 A21,900
O EZ= NSAAK =4 46,800
ORIISLE H=E - IHBAE K& 73,500
dEE s B2 61,200 61,200 0
308 AXIHSOIH 61,200 61,200 0
Ot AXESHNBLAEES 61,200 61,200 0
orEd s B2 61,200
HEed=se 5 127,200 126,000 1,200
307 212t01® 30,000 30,000 0
04 QI AIAIRI B X 30,000 30,000 0
OTEESUE HEHF 30,000
308 AXEHHE0IH 97,200 96,000 1,200
Ol IXNSHEBAEEZ 97,200 96,000 1,200
O EB=LE AUSFHIH| 90,000
Oz EZNA=Yel MBI|= FEMS 7,200
RINsLXM XA (=1) 362,500 335,950 26,550
= 250,000
T 112,500
308 AHXIEHHSOIE 362,500 335,950 26,550
= 250,000
= 112,500
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A sg€II8t
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Be: dEdsy |4
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00
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e

 RA B3 G(3) - NRAY - BES T ooty
01 NXISHZ AR A i ) 362,500
ORIIsXM K& 362,500
= 250,000
== 112,500
HAY FAH L5 43,794,332 38,670,600 5,123,732
= 40,720,860
Il 293,300
=3 2,780,172
LEEH ML 2,369,700 1,138,800 1,230,900
202 04| 6,500 6,500 0
01 =LHOIHI 6,500 6,500 0
onMHAR FT 6,500
307 giz2t01™ 57,000 92,000 235,000
02 QIZHEAMAIHEX 7,000 7,000 0
ON Mgls Eleld 2Hus 7,000
04 QUIAHSHALAIR B X 50,000 85,000 235,000
OZ3AY 2 0HE XN 50,000
308 At XA SO0 ™ 1,918,000 886,000 1,032,000
Ol AIXEHHBAEXS 1,918,000 886,000 1,032,000
OXIH AHIESE K& 70,000
O=s=sddIAudES X 855,000
OZ3Y EAHIXNY XN XI& 420,000
OH MHI8 A& S sl XA 500,000
oY dMY=It REEEX B2 13,000
oY% Mz dMIAUE N 50,000
Ot Xt HLTHE X 10,000
403 XHXI EHRI S XHEOI & 388,200 154,300 233,900
01 AXSHHMAES X 388,200 154,300 233,900
OH EZAE X3 144,700
OH 58 Aldia 15,000
Ol ZX2l& HIdotA 129,700
OoH &8 28| 13,500
O2EH JIEANE K& 90,000
OYAAL BEHXI| B2 90,000
OLSE & MAMMIIAY 50,000
FPA[2IH(N XXV (2D) () 41,000 36,000 5,000
2 41,000
201 2t 19,400 20,400 A1,000
= 19,400
01 At 2t2lHI 19,400 19,400 0
oLFYR F& 19,400
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SA - é‘ﬁ! l4-:-!(2!34!) kll A}ﬁ I"'gg

F_EE

Gl aky ‘ Ol Ao Hlﬂéa
—T= w,o”

202 ¢iHl 21,600 15,600 6,000
= 21,600

01 =GBl 21,600 15,600 6,000
og=ze FA 21,600
= 21,600

AP A2 HN(X M)XK (=2D) 46,000 46,000 0
= 46,000

308 XXX SOl & 46,000 46,000 0
= 46,000

01 ARSI A EES 46,000 46,000 0
oxsL2F2IHI(XIXHH) X 46,000
= 46,000

AEZ2 #MFAY NI (=1) 293,300 293,300 0
J| 293,300

308 XX HXMSOIH 293,300 293,300 0
Il 293,300

01 AXSHNBAEES 293,300 293,300 0
ouzgza dFEZH X& 293,300
J| 293,300

MASEFHNFNIINES(Z1) 35,190,900 35,190,900 0
= 35,190,900

308 AXIHHSOIA 35,190,900 35,190,900 0
= 35,190,900

01 AXSHBAEES 35,190,900 35,190,900 0
OQUASEBNMINIFNFRNES 35,190,900
= 35,190,900

B AZMEBAE X (21) 99,000 0 99,000
= 90,000
= 9,000

403 MXISHS 20l ™ 99,000 0 99,000
= 90,000
T 9,000

01 XM AEEE 99,000 0 99,000
OH 24X - NEAE K& 99,000
= 90,000
= 9,000

=EHEE KR A (=2D) 5,754,432 0] 5,754,432
= 5,352,960
= 401,472

308 XXM SOIH 5,754,432 0 5,754,432
= 5,352,960
= 401,472

01 IXCNBNEXEZ 5,754,432 0 5,754,432
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=

e RCT-pII
Mo AYRSAVAND(SHSLL/5Y - 52)
B9: Hue 3R B
"N .mE. qﬂ(ﬁun) kﬂ‘=‘M&1 wge sty
—GEEUZEN UE 5,754,430
= 5,352,960
= 401,472
gaSE MADIEE X4 11,385,640 9,932,750 1,452,890
= 9,500,000
J| 170,000
== 1,715,640
FTAUIS 22 23 M1 393,780 656,890 A263,110
202 o4 Hi 4,000 4,000 0
01 S LI BI 4,000 4,000 0
OFTAIIS 2XE ZM2 =X 4,000
308 XX SHMSOIE 232,980 381,840 A 148,860
01 AXSHHBAEES 232,980 381,840 A 148,860
OIBEAX HTHH X 60,480
oE=4as HE3 30,000
OUNZAEHE AHLs XS 90,000
OLAAX NEZ T4 52,500
403 X SHHS K20l ™ 156,800 271,050 A 114,250
01 AXSHHAA=2EE 156,800 271,050 A 114,250
Or&EH MU A=HS 18,000
O&=4AD|Bt X M 69,000
ORIEFM HeHEIXY 45,000
ORIZZMX MEAL ZYXE 24,800
ECEEETE In)) 9,500,000 8,707,000 793,000
= 9,500,000
308 XX HMSOIH 9,500,000 8,707,000 793,000
= 9,500,000
01 AXSHBAESES 9,500,000 8,707,000 793,000
oesYNEX 9,500,000
= 9,500,000
YA RNES(XHA) 1,200,000 0 1,200,000
308 AKX HHM SO0l E™ 1,200,000 0 1,200,000
01 AIXSHIAEER 1,200,000 0 1,200,000
od=sgaE E}(Irxﬂ) 1,200,000
SRS HHY NW(2D) 170,000 13,000 157,000
Il 170,000
202 o Hl 13,000 13,000 0
J| 13,000
01 20 HI 13,000 13,000 0
OE=sgd HNEANY FX 13,000
bl 13,000
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SN S8
M NSRSAVAYD(SPHSSL/5 - 58)
el EEE MAD|E XY

RN B S9(8) - NISAY - BaS oarel S5e | Hamw
_—r 308 Il'ilEl'i‘iT'::;-leu_-i 157,000 — 0 157,000
Il 157,000
01 IXSHHMBAEES 157,000 0 157,000
og=g A (#FY) X 157,000
Il 157,000
sAMoli =+ 121,860 121,860 0
308 RtXIHSOIA 121,860 121,860 0
01 AXESHBHEES 121,860 121,860 0
OsHEMEE X 99,360
osJldEg=EE XN&A 22,500
sIHE & A5 15,651,272 15,482,272 169,000
2 1,960,000
=S 3,691,272
sSIASUHALA(S1) 3,000,000 2,400,000 600,000
2 2,500,000
= 500,000
403 XM EX20/& 3,000,000 2,400,000 600,000
= 2,500,000
S 500,000
01 HXISHMA2EX 3,000,000 2,400,000 600,000
OSIIHS A 3,000,000
2 2,500,000
& 500,000
zAEUAES(21) 9,807,000 8,967,000 840,000
= 9,340,000
3 467,000
308 XM SOOI 9,807,000 8,967,000 840,000
= 9,340,000
S 467,000
01 AXSHBAEES 9,807,000 8,967,000 840,000
Ox=AEeINAAEX=H 9,807,000
= 9,340,000
== 467,000
sIHS= 2,440,000 3,051,000 A611,000
202 o1l 6,500 6,500 0
01 = LHOd HI 6,500 6,500 0
OsINIAHE & LASAFFA 6,500
308 XXX S0l H 1,770,000 2,362,000 A592,000
01 AXSHBAEES 1,770,000 2,362,000 A582,000
OsgE& HASs FH & 1,650,000
ogUsIIAH +=cl28Hl N3 120,000
403 MtXISH S0l 663,500 682,500 219,000
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SA: sg0e
Y ASNSIYAN L (sHH L/ 5 - 5E)
S9l: =SAIINE W ASOH (B ®R)
. RAH-ZH-S2(30) - NEAY - BES ot . 1 Sha | Ha=w
01 XIS A=2EE 663,500 682,500 £19,000
OSJIHS ALY X 474,000
OUgsIIA U 357,000
O4EsIIH LU 63,000
OdtsINA tHasxtz XJ 54,000
Oy - =X AHEZ FHIXA 114,500
O=gE =8 JUXd 75,000
1@ =gl s Na 230,272 230,272 0
308 XX EHHI S0l ™ 230,272 230,272 0
01 XHBEZES 230,272 230,272 0
oLg =Yl sHAH X3 230,272
SIASSHER 2N (21) 174,000 174,000 0
= 120,000
=S 54,000
308 XM SOI™ 174,000 174,000 0
= 120,000
& 54,000
01 UXHBHSEES 174,000 174,000 0
OsYI|H SSHEX AN 174,000
= 120,000
& 54,000
SYMMDIE ZH(sHN LM/ - &) 23,395,000 20,579,000 2,816,000
= 4,300,000
X 16,624,000
=S 2,471,000
oI 2+=33HA =E 8,683,000 7,541,000 1,142,000
= 4,300,000
Y 2,640,000
S 1,743,000
Bi==oH & (=12) 4,000,000 2,500,000 1,500,000
= 4,000,000
402 2I2tXH=01 ™ 4,000,000 2,500,000 1,500,000
= 4,000,000
02 QA X2AIAEZ (0| HTHA) 4,000,000 2,500,000 1,500,000
(CLIE | 4,000,000
= 4,000,000
SHETHHl E4H2(22) 300,000 300,000 0
= 300,000
403 TtXISHHSH=01™ 300,000 300,000 0
= 300,000
01 TXEMAZER 300,000 300,000 0
OB HHl S+ 300,000
= 300,000
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eel:

D SY0Iet

SYMAI|E T (SRHSS /5L -

OEE gAZIHI =Y CEE-ED
 BN-EE. crol(ai) - A - BES | ose Ste | Hasy

T [272 s28+ HgAs(Zo sazs) 286,000 0 286,000
x| 286,000

403 XHX| EHRI S XH2 0| & 286,000 0 286,000
x 286,000

0 XS ARESE 286,000 0 286,000
04RE =S8N 286,000
X 286,000

JIZMEO TN ESBANL)(2D) 1,974,000 280,000 1,694,000
X 1,974,000

403 XHXI EHRI S XH2O0| & 1,974,000 280,000 1,604,000
X 1,974,000

01 RXIESRHAEEE 1,974,000 280,000 1,694,000
OXEAE2NY 1,974,000
Xl 1,974,000

JEMEOI T SESLMEEANY)(2D) 380,000 1,779,000 £1,399,000
7 380,000

403 XHEISHHI S X2 0| & 380,000 1,779,000 1,399,000
% 380,000

01 RXISHAEEE 380,000 1,779,000 1,399,000
OsEsUMBELINY 380,000
Xl 380,000

YRS IIBOBAY 160,000 160,000 0

403 XHX| EHRI S XH2 0| & 160,000 160,000 0

0 RXSHAESE 160,000 160,000 0
SRS JISHYAY 160,000

THLHOHR AVZEXICH (R4 XI)3HA CH 260,000 260,000 0

403 XHXI EHRI S XHR 01 & 260,000 260,000 0

0 X SHAESE 260,000 260,000 0
O-EX4X S 24 - 22 260,000

=04 A D[ BHE HI A Y 1,283,000 1,286,000 A3,000

202 OfHi 18,000 18,000 0

NETEL] 18,000 18,000 0
OsYMAD|E HHIAY YRxT 18,000

403 XHX| EHRI S XH2 0| & 1,265,000 1,268,000 £3,000

01 X SHA=EE 1,265,000 1,268,000 £3,000
O=Q M A BHFH| 1,265,000

sUEYLR MISXE 40,000 40,000 0

308 XHXI EHAI SO & 40,000 0 40,000

O RXESHBLEES 40,000 0 40,000
OsYBA+TAI|ZN 40,000
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=

SA: =Y
B SAMAI|Y TN (STHSLL/SY - BE)
EP: SYAADE FYI (e2: &)
A - BB OO (B - HEAS - BAS + ol - SdE HID=2t
SYAAD|BE FH| 14,712,000 13,038,000 1,674,000
Xl 13,984,000
= 728,000
gol8 Ful(31) 6,600,000 10,081,000 £.3,481,000
Xl 6,140,000
=SS 460,000
403 ItXISHHSXH=01H 6,600,000 10,081,000 23,481,000
: Xl 6,140,000
= 460,000
01 AXEHHMA=2EE 6,600,000 10,081,000 43,481,000
ogolgr FH 6,600,000
X 6,140,000
< 460,000
H+& 2XZal(=1) 1,612,000 0 1,612,000
Xl 1,500,000
= 112,000
403 A XIS SA2018 1,612,000 0 1,612,000
Xl 1,500,000
=S 112,000
01 AIXSHMA=EE 1,612,000 0 1,612,000
ou=& ZXFel 1,612,000
X 1,500,000
S 112,000
ARE2 Hi=IHE(312) 2,224,000 0 2,224,000
Xl 2,068,000
== 166,000
403 Xt XIS HSXH=01™ 2,224,000 0 2,224,000
Y 2,068,000
S 156,000
01 XM= EE 2,224,000 0 2,224,000
OA72 == 2,224,000
Xl 2,068,000
=S 156,000
IIEMEOITROHSERZHER)(2D) 1,823,000 767,000 1,056,000
A 1,823,000
403 MHXISHMSXH=01H 1,823,000 767,000 1,056,000
X 1,823,000
01 AXISHHMA2E X 1,823,000 767,000 1,056,000
OJIAE=Z &XF 1,823,000
X 1,823,000
ST ANLOIANS B2 H)(=210) 2,453,000 2,190,000 263,000
Xl 2,453,000
403 TtXI SRS TH=01E 2,453,000 2,190,000 263,000
X 2,453,000
01 AXISHA2E X 2,453,000 2,190,000 263,000
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2L s2I|E
A SAMMI|B L (SEHSAL/5Y - 5E)
Etel: sgdaD|e ol (o)
[ A - B - w(euu) AE - B ouawu S @z |
T omesss 522 2,453,000 -
X 2,453,000
Y 2HZH (=YII8tn)(DIEHIIE) 40,434 39,900 534
Jl2gl 40,434 39,900 534
EA2E023H| 40,434 39,900 534
201 ger2d | 26,034 24,900 1,134
01 AtR22lH| 26,034 24,900 1,134
OR A2 MRSl 26,034
202 o4l 10,800 10,800 0
01 =LA HI 10,800 10,800 0
ORAME2Y =UOH 10,800
203 PR =&H| 3,600 4,200 A600
04 2N2EYRFAH| 3,600 4,200 2600
©20¢! 0|5t 300,000& *12& 3,600
HRgs(sletn)(selerd/=e - s&) 159,000 1,027,750 868,750
el NE(0l4+3 |elaas) 159,000 163,500 24,500
2ANEASHE 0|8 =4 159,000 163,500 24,500
705 Ol ==&l 159,000 163,500 £4,500
03 Al - EXISIEIISUH+-=RSEE 150,000 150,000 0
OTNIEE 0ldxY 150,000
04 Al - SXISHEI IS0 =30l K&t & 9,000 13,500 24,500
oHNAZTE 0ldxH 9,000
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